A B \ o] \ D E \ F \ G H I J
411.61 182 [7.17 41[1.61 Note: Spreader bar
[ ] HORIEONTAL 1 [ ] reqUIred to aVOId .
= MTG DIM ) __| damage during lifting
3 50.5 (3.2 2 ® (2)-Lifting Holes
- 1392 © (4) Mounting Holes % @20 [20.79] %672'3 [0.09]
- Q for M8 [5/16"] N
- Screws. Air
See Detail A for top A= =
mounting hole } i H . 9 @10 [@0.39]
Keypad —~_ dimensions. Cooling fan =3
' = = i Top Type 1 il location 2
13} & |3 Protective Cover — -
& 8: =5 : .
7z = | = °
0= X Nameplate o
. P —
o | ..
) =T [ T S
5 — . | 218 [20.71]
- 3 = Center of Gravity °
g ™ D - 2.3[0.09] Detail A
— =} To) Note: Dimensions shown N —
o to) o are measured from the . Top mounting hole dimensions
S = 3 o 0 bottom left mounting hole ° 154 [6.06] Scale 1:1
o]
S o
U1 ProtBe?:ttti?/g gge:r; | IO E
(TP MDD | N i
o (NI ¢ (T
97 [3.82]
1.5 [0.06] 335[13.19]
Max.10 [0.39] | Max.10 [0.39]
39 [1.54] 190 [7.48] 39 [1.54]
HORIZONTAL MTG DIM
268 [10.55]
37.5[1.48] 37.5[1.48] The dimensions shown are for an IP20 Type Drive that has been converted to a
Ll Ll NEMA Type 1 Drive by adding the parts from Fuse Ready NEMA 1 Kit part number UUX002314
@44 [21.73] (2) - @35 [@1.38]
C/C:  |INPUT VOLTAGE | WEIGHT |COOLING
*T ' (9)-@62 [@2.44] GA80n | 3-PHASE (VAC) | Kg (Ib) FANS
\ 2169000 200 TO 240 53 (116.6) 2
2211000 54 (118.8) 2
X —_ 4140000 52 (114.4) 2
3 N 4168000 38070 480 53 (116.6) 2
© ) 5062000 53 (116.6) 2
~ © = 5077000 500 TO 600 53 (116.6) 2
- B o 5099000 53 (116.6) 2
— o denotes A-Z
78 [3.07] 78[3.071 2
DRWN. [ J. MATTAS 6-5-24 TITLE
@ ] SRs00 DIMENSION DRAWING  [SZE__ A [PAGE 10F4 |REV
YAS l(AWA CHKD. [ J. PIOTROWSKI 6-6-24 FRAME SIZE 7 DWG.NO. 0
UNITS MM [IN] | TECH. |L. UDDIN 6-16-24 FUSE READY
SCALE 1:15 | APRV. | M. BAUMGARDNER| 7-8-24 NEMA TYPE 1 ENCLOSURE DDGA80FR7N1 F




A

c \ D

\ E \ F

\ G

H \ |

Terminal and Wiring Information for GA8002169, GA8002211, GA8004140 and GA8004168

Terminal Details (Scale 1:6)

Base Point of
Terminal Board

Detail A - Input Terminals (Scale 1:8)

37.6 [1.48]
) Refer to DD.GA80. TERMBOARD
2xEMC Filter drawing for terminal board details = =
Switch
(EMC Only) ] Main Terminals
ﬂ\ ) ', with M6 Screws —
s Hex socket cap(WAF:5mm) N
\ \ \ 5 o Input Fuses
A \\\\\\N\ ; = Supplied by others
Main Terminals ‘1\\ Main Terminals I
with M10 Screws Q\X\\\\\ ] with M8 Screws N Main Input
Hex socket cap(WAF:8mm) ' Hex socket cap(WAF:6mm) Terminals
N . )
= See Detail A for (@) ) <
% Main Input 5 - =3
- ire installati 2l = o
3 wire installation = 3 2
I3V ~ » N B B B
[ — 1 1 % ﬁ - N
L1 SIL2 TIL W—W
NZA AN —
—_ — ©
145 [0.57] = F 3T 2 g g
o T 5 8 g T
2xP31.1=62.2 [2.45] sl o & = 26.8 [1.05]
(o)}
74.7 [2.94] 19.8 [0.78] 68 [2.68] 68 [2.68]
Grounding Terminals
114.8 [4.52] with M8 Screws
Slot(-)/Hex head H: |
60 [2.36] 70 [2.76] (WAF: 13mm) combo it
0 \
= (0]
142.3 [5.60] 2xP31.1=62.2 [2.45] g Detail removed for
& £ 1 clarity purposes
! [ ] Q|+ >
Jiﬂégm@‘g DDHDDHDD \ ; “g‘_ o S— 111> ) o
PRFEI Errrt v Htsrereees @£ =DBamin——
a00[n00jis AN T N e =pm—
| o] oo < ==
L < oIS Ee=——te
3 |z
—_ 2 ol O s L . .
S .E . % g é g 8 Detail with Type 1 Protective Covers (Kit)
Sl E ZF= = 2 RlE &g =@ CIC: TERMINAL WIRE RANGE | TERMINAL | CLAMPING TORQUE
<l 3E OE%%%JO o @ o £ w,| E o5 9 £ GAB0D SYMBOL AWG (mm) SCREW N.m. (Ib.in.)
Nle =|€ o —ambc_ 1 c 23 2 £ g e I; 25 169000 RIL1, S/L2, TIL3 2-300 (35 - 150) M10 12-14 (107 -124)
= 205 T am— e 1111711) ] a— a— =5 9|02 gl N = UIT1, VIT2, WIT3 2-300 (35 - 150) M10 12-14 (107 -124)
|- [ — Y — e 111115 e—a— ) 0| & <2 INBI = — 2211000 &
N © [ —le— e D) |35 YNl Ns 4140 - - 41, +1 6-2/0 (16 - 70)" M6 8-9(71-80)
= | S { s S B SN ogen +3/B1,B2 4-30(25-95) | M8 8-9(71-60)
e IO IILDC_ Do = oen 4-1/0 (25 - 50) M8 9.0-11(79.7 - 97.4)
o Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
Detail without Type 1 Protective Covers (Kit) *1 - Terminals "-" and "+1" have two screws. Wire range indicates the wire gauge per one terminal.
DRWN. [ J. MATTAS 6-5-24 TITLE
@D ono DpoRonsk Teeas—| GAB00DIMENSIONDRAWING  [SZE A [PAGE 20F4 |ReV
YASI(AWA UNITS MM [IN]| TECH. | L. UDDIN 51624 PR Sz PWENO 0
—= FUSE READY DD.GA80.FR7.N1.F
SCALE ABOVE| APRV. | M. BAUMGARDNER| 7-8-24 NEMA TYPE 1 ENCLOSURE




A

D

E F

G

H

Terminal Details (Scale 1:6)

Terminal and Wiring Information for GA8005062, GA8005077 and GA8005099

Base Point of
Terminal Board

Detail A - Input Terminals (Scale 1:8)

37.6 [1.48]
) Refer to DD.GA80.TERMBOARD
2xEMC Filter drawing for terminal board details = = =
Switch o
(EMC Only) ] Main Terminals
ﬂ\ ] g', with M6 Screws © © ©
i Hex socket cap(WAF:5mm ~
I8 L ] p( ) S IE ﬁ ﬁ {1 Input Fuses
& \\\\\\\\N\ ; @/ = o Supplied by others
Main Terminals ‘1\\ y ﬁ : 1 Main Terminals f
with M10 Screws \\\\‘\&\\\ f with M8 Screws g g Main Input
- Hex socket cap(WAF:8mm) Hex socket cap(WAF:6mm) [ ) q Terminals
N = o oll@||o o|@|o o
S See Detail A for o — ?
= Main Input = <2 g ®
o N « A © ~ RIL1 S/L2| TIL3|
o wire installation S = o
re] =5 < =)
N N~ (o2 A L tf of
[ — 1 1 % ﬁ - N
L1/ SlL2 TIL WJW/T
\NZA ZA A 4 —
—_ —_ ©
14.5[0.57] = 5 5 f ) )
o 2 e e <
2xP31.1=62.2 [2.45] =h P ® ~ 26.8 [1.05]
(o)}
74.7 [2.94] 19.8[0.78] 68 [2.68] 68 [2.68]
Grounding Terminals
114.8 [4.52] with M8 Screws
Slot(-)/Hex head
60 [2.36] 70 [2.76] (WAF: 13mm) combo
»
142.3 [5. 2xP31.1=62.2 [2.4 T
315.60] xP3 62.2[2.49] — g Detail removed for
& £ clarity purposes
! [ ] Q|+
Jiﬂégm@‘g DDHDDHDD \ ; “g‘_ o S— 111> ) o
a00J100]00s e i N|c =HE—
oo nn oo = =RED—
I ] ~ ® CDEDC D )
2 _ g
— 2 R ol O ® P . .
S .E . % g é g 8 Detail with Type 1 Protective Covers (Kit)
Sl E ZF= = 7‘@ Lle = E =T C/C: TERMINAL WIRE RANGE | TERMINAL | CLAMPING TORQUE
o e 38 OE%%%JO e @ 8 Es Ew§ 9 GABOS SYMBOL AWG (mm) |  SCREW N.m. (Ib.in.)
Nle olE T fam— 111111113 | G— o— ©| 2T &/ & o2 R ; N| o RL1, S/2, T3 2-300(35 - 150) M10 12-14 (107 -124)
=3 5 | @ o C—O qImb C—O b =52 Q2 glo N NI= 5062000 UIT1, VIT2, WIT3 2-300 (35 - 150) M10 12 - 14 (107 -124)
Syt (1 I Y G— €111 115 ] G— am— ) ol & O o |2 = = )
| © | G i N ) |35 YNl Ns 5077000 - - 1, 6-2/0 (16 - 70)"1 M6 8-9(71-80)
= TS ===35 = 8 = =3 ~ 5099000 +3/B1, B2 4-3/0 (25 - 95) M8 8-9(71-80)
ES%::D = 4-1/0 (25 - 50) M8 9.0-11(79.7 - 97.4)
o Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
Detail without Type 1 Protective Covers (Kit) *1 - Terminals "-" and "+1" have two screws. Wire range indicates the wire gauge per one terminal.
DRWN. [ J. MATTAS 6-5-24 [TITLE
@D ono DpoRonsk Teeas—| GAB00DIMENSIONDRAWING  [SZE A [PAGE_30F4 |REV
YASI(AWA UNITS MM [IN]| TECH. | L. UDDIN 516.24 A oeE T PWENO. 0
—= FUSE READY DD.GA80.FR7.N1.F
SCALE ABOVE| APRV. | M. BAUMGARDNER| 7-8-24 NEMA TYPE 1 ENCLOSURE




E

| F

Minimum Installation Clearances (Scale 1:12)

120 [4.72]

30 [1.18]

30[1.18]
I8
3
4
Air=-
r,
Note:

120 [4.72]

For alternate mounting configurations, consult manual.

YASKAWA

—1 DRWN. | J. MATTAS 6-5-24

@ — CHKD. [ J. PIOTROWSKI 6-6-24
UNITS MMIN] | TECH. |L. UDDIN 6-16-24

SCALE ABOVE| APRV. | M. BAUMGARDNER(| 7-8-24

T

ITGLE8OO DIMENSION DRAWING
FRAME SIZE 7
FUSE READY
NEMA TYPE 1 ENCLOSURE

SIZE A |PAGE 4 OF 4

REV

DWG.NO.
DD.GA80.FR7.N1.F




	Sheets and Views
	DD.GA80.FR7.N1.F-PAGE 1
	DD.GA80.FR7.N1.F-PAGE 2
	DD.GA80.FR7.N1.F-PAGE 3
	DD.GA80.FR7.N1.F-PAGE 4


